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9. Two rods of copper A and B of the same length but difterent thickness with
candle wax attached to either end are heated as shown below.

A Heat

State and explain the obscrvatiw s, (2 marks)

1 ppade
The..wax..on..xod A “ealls. oy irst . tren grom. 6. loer. ..

f‘gas‘t@r than B. Vi) ot |
10.Figure 4 shows a manometer attached to a gas supply. If the atmospheric pressure 1s

1.0336 x 10°Pa. Calculate the pressure of the gas supply.
(Density of mercury = 13600kg/m’) (2 marks)

11.A block of wood measuring 0.8m by 0.5m by 2m floats in water. 1.2m of the block is
submerged. (Density of water = 1000kg/m’ , g=10N/kg) Determine the welght of the water

displaced. (3 marks)

Volurre o water dicplacedz 0:8%x 0-5x1:3 = 0-4gm'v” O

Nass.z LY..2.1000x0:48.2.480k. v O &

s AB0AI0. 5 AR00N. . B
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(1)  The efficiency, E, of the system (2 marks)

V.R O
v

......................... A_LE_:LE X% . 5. 896%. .

(e) Using the axes given below, sketch a graph of efficiency, E, against load

(1 mark)

The curve Md/
i be below (00%

100

(%)

Load (N)

14.(a) What is meant by the term specific latent heat of fusion of a substance? (1 mark)

Thic i< the amount . o heat. wauired... fo. change. .anit......

llllllllllllllllllllllllllllllll

mass. O Q.sabgtance. | Lrom odid 4o liguid(molt) . complately.

llllllllllllllllllll

(b) Water of mass 200g at a temperature of 60°C is put in a well lagged copper

calorimeter of mass 80g. A piece of ice at 0°C and mass 20g is placed in the calorimeter
and the mixture stirred gently until all the ice melts. The final temperature of the mixture

is then measured (Latent heat of fusion of ice = 334000] ke, specific heat capacity of

water = 4200Jkg'K™)
Determine:
(1) The heat absorbed by the melting ice at 0°C (2 marks)
Water:  Calorimgter lce. ... Heat absorbed by ice. .
it0g.. . %0q . O ) L4/® ..................
Go)s 60C Ay =20 __ x 334000
--r_r ................................................. IOQO ..............................................
T Z 00T \/é-
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(¢) A rock of mass 150kg moving at 10m/s collides with a stationary rock of

mass100kg. They fuse after collision. Determine the
(1)  Total momentum before collision. A (2 marks)

O ---------------------------------------------
[@mic....... ... LOTE ot | (L =150 S M@
(i1)  Their common velocity after collision. (2 marks)
Final _ momertum < ms..fm.a)y ............... e © o

RN T 6m(£ L @

17.(a) On the axis below, sketch a graph to show how the pressure of a fixed mas;& of alf)as
. : mar
varies with volume at constant temperaturc. (

+

PK‘/@

_',

Y | _}
(b) The set-up below shows an arrangement that can be used to Verity Charles’ law.

—SEirrer

—Rubber band

Sulphuric acid index

Thermometer e i

o Waoater bath

-~ - Scale

LI
Wire gauze
/ /I\Hea;l\ ‘\&
(i)  State any one use of sulphuric acid index in the above set up. (1 mal_'tkj
ol v (any one ONMeC
=Dry.. 'H‘Q"TOPPQ ........ @ S O I © oo

SO
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